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PART A — (10 x 2 = 20 marks)
. - Answer any TEN questions.
ke Define Cost. Accéuntiﬁgl a
. aL$5@9%m§u asastféseﬁu_l‘é)_-ammuu_@]‘
2.  What is Cost Unit? R
@écoeq 2aTe] G_r;;irgg)rr_d);. Gr@;rﬁff? :
2, _:Wha‘t is-a Cost Sh"éét‘..’
S gselama LI iq uieh GTETDITED eremen? |

4. Whatis a Tender?

| @uups e ul_Lq_u_Ja) GTETDITED GTENTGH 7

: .'CoJ;if 9&00’“"*‘“& :'

5. What is Miriimum Stock Level?
@mg);lbg,ul;é ETSEAmLIL SiaTey :&@Dneb creirrs&r'.?

6. Whatis :]i*’.-.jfl‘xjchasq requisition?. .

Qa;rréh@g,eb aﬁ]smframuum Grsér,rg)nd) Grasrsiﬂ?

7. What is Time Rate system?

- |
&6V 2ardlud (LPENID GTEIMHITED GTENTEn 2 g
. 3 * ) . 3 _ e

8. What is Incentive Plans?' )

M _B.-ICOF"‘" M /F \ .

oandsa; parliig S 1D GTEmDTe) 6TEMEn ? '
9. What is allocation of Overhead? -

GuopLene; paisE0 erampid eremen?



10.

11.

"12.

13.

14.

15.

What is Administrative Overhead?

freurrs CLop@eamalseT erarmind GTenen?
D 2 D

State any two objectives of Cost Accounting.

SILésaSlene sansSwueen Cprastisar gCaeaid @ﬁeo‘zfremL SIS

What is Memor.andum_ Receneﬂiation‘ Account?

Blenpe sfssr. @) es_mrrés@ TETDITED Gréfen

PART B — (5 x 5 = 25 marks) -

Answer any FIVE Questions.
Explai1.1 the various ele'ment's'o'f Cest.
@{géﬁ&@ﬂmmtﬁlusﬂm ueb(%@.;gj aaxguésmen eﬁimrﬂésa;ﬁ
Prepare a Cost Sheet ﬁom the following data :
Raw materlals consumed — Rs. 80,000

Wages Rs. 20, OOO
Factory expenses is charged at 100% of wages.

. Office-overhead is charged at 20% on factory cost:

Sipéaat aﬂmum&aﬂeﬂ@pg @ é{L&SGSQS]Gﬁ)GI) uugum) gu_rrrrr G]&mas
BISTULLL apariQumer op.80, OOO ' :

'aheﬁl . 20,000

Qg,rr@g)errrsma) Q&GI)GI]BSGIT saaflulled 100%

| SIICINE Gwm@&wm_&m Qgrr@,rp&rrsm_a) @qi_’ésesaﬁlémbuﬁ]sb 20%. Ve

Find out the economlc ordering quantlty from the fo]lowmg

: Annual consumptmn 12000 units.

. Cost of placmg one order Rs.15

Annual carrylng cost of one umt Rs. 10

&;L.pasa;sﬁb'rl_ aﬁ]mnyma;a’]eﬁ]@‘mgj Sagan Qa;an@géb <SIETENGU GT6HT 8. ' 
<24,&HT(H) uu.Jmurr@ - 12000 DD GEET -

S S ILnener GOaEHED QupiaIEHEL 2 Qeway .15
é@ S Csafsg majﬁj;_rg,_gj)a;'rrm e (H) Geévm .10,
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16. From the following partlculars prepare Labour Cost per man day

of 8 hours.
(a) Basicsalary " ¢ Rs.2per day
(b) Dearness allowance : 0.25 paise for every point over
100 cost of living index for
working class. Current month
cost of living is 700 points
(¢) Leave salary :  10% of (a) and (b)
(d) Employees contributions
to P.F. : 8% of (a) (b) and (c) .
(e) No. of working
days in a month i 25 days of 8 hours each

Epsengnd efleughiseflalmbg 8 warfll Cryb QsTETL. G BTEEsSTET
g6 GTeGUETEY GTEUE FETES(HS.
{=21) SgliuenL sbiiemd : [pei @mgja;@ @ 2
(<) =selavaiiuig : ampéemsstswey SiLLcuementulled
iOO yeraflsEnég GG 2_aTar geGeum
Yerafls@Lh 0.25 st y@Lp. L] eumpéeps
Qsaay ¢9||_|_mmm'ruu1q. LDrrg,Lo 700 qmerﬂa;m
(8) - A@PLLY sbUeTD : Giopug (1) mg)gu.o (<) e 10%.
(") Gowpefifie |
wponalldr ooy : Gopu (o). (<) oo (@) e 8%
(2) pouoEsdd :
uewfl prlser : 8 wenfl Gurb QamerrL 25 BTl ger

17. Discuss briefly the objectives and advantages of costing. -

Qsaedweslen (B‘r_r,rresasg,mg,u_{m HHID a{g,@iju_l ;r;mmmasmmum
elleurd).

18. From the following informatidn, compute machine hour rate
Cost of the machine Rs. 90,000 .
Cost in installation Rs.10,000

Effective.. working life 10 years
Working hours 2000 hours per annum : : |
Repair expenses 50% of depreciation e ; |
Power,consumptioﬁ 10 units per day at 10 paise pé,r unit

Wages of operators Rs.4 per ddy of 8 hours.
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19.

20.

&Qé&sﬁﬁu oﬂuj@&oﬂeﬁ@(r’ﬁg QuipSr wenfl 6555mS sesE D,
Quipdirisflen i _sselea .80.000 |

fHpous Qewalsear 510,000

g_m%oa;@m puia 10 au(pLaseT

2 @P&EGD CHID m@x.g,;ﬁgp@ 2000 waénflaer

u@gﬂurrm_lq Qsameyser C‘Sg,mmrreo‘rg,@co 50%

Béin gja;rrm @ prr@a;@ 10 S ES6T 2l el 1 10 eousT
@u_la;@ueurr e’aoS] 8 Lomﬂaserr QanarL @ BTEhsHE @-4.

Calculate the earnings of a worker under the Halsey plan and
Rowan plan. .

Labour rate per hour Rs.3
Time a]loWed for job 20 hours
Time taken — 15 hours

@(H Qg;rrgﬁlo)rrqﬂuﬂ\em rrl_®g,6mo apreGs LD'I'_DQ]LD C‘Sr,rrrsurrm §,1|_Luu1q_
san&HHE. :

g wafl CEraHneG 2 Mw Q_mlguq gaed el 5.3

\
uewﬂa;@ é{@noﬁasa;uul_l_ Gpiib 20 anflaer.
a@g;gﬂas Qe Gprym 15 wewfl&ar.

PART C—(3x10=130 marks)

- Answer any THREE questions.

From the followmg partlcular':, prepare a cost sheet.
1.1.2014 31.12.2014
- Rs. Rs.
Raw materials e 1,00,000 1,23,500.
Finished goods 3 - 71,000 42,000
Work in progress - 31,000 34,000
Pmch’ase of raw material-s c T T T —88,000
Direft wages 70,000
Fact\fry overheads 239,500
Administrative overheads 13,000
Selhng and dlstubutlon overheads, - 15,000
Sale oJf finished goods - 2,75,000
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e

SpE&&TEDILD s Bhg  SLSselama  Liguie Qe

swnflés. :
1.1:2014 31.12.2014
. - O
epeI@UITHET 1,00,000 . 1,23,500 -
eyt QummLser : 71,000 42,000
pLUde Gmésd Casame 31,000 34,000
eI @LIT(HET G-a;'rreh(gzgeb . I * 88,000
Gy Fa 6l 70,000
Qsmparane Coplsmaysdr , _ 39,500
Blireura Guplemaser ’ . 13,000
efpuiman wPmd AFGLITE CopEsweyseT N 15,000
Wigeyls QurseT eflpuiamen | ' 2,75,000

21. The profit as per Cost Accounting Rs. 40,000 ‘while comparing
with the Financial Accounts. The following differences were

fOund:
Rs.

(a) "Overhead as per cost accounts amounted . 8,000
) Overhead as per financial account 16,000
(b) Dire‘ptlors- fees not charged in cost a/c 750
{c) Tax company created doubtful debts ‘ 600
(d) Depreciation not shown in cost a/c 600
(e) Transfer fees received Sl 100
(f  The amount charged to income.tax 5,000

Prepare a reconciliation statement.

syLssellae ol iger b .40,000 Hs semdden giigd Qs
Ui Cpré@b umps Spsaem 69 SENITFBISET STGRTLILILL 6.

: (b

(@) olLssaioma samsdld erpsliu’ L Gopsblswaysdr 8,000

Hflssamsdle er@psruiL Gunétsaaser 6,000
(). L dscllene samsdld ripsUULTS BuEEpT &L ewd 750
(@) Bmwb esésu MUIGESL 6 ST = 600
(7)  SiLéselene saisfd apsilLis Coinpreny - 600
(2)  wrHmE SLLewd QUDDS) ' 100
(o)  eugmLonen uiés er(psLILLLSl 5,000

&rﬂé;a;l:_@fo O quiéd swrlésaid. |
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22.

23.

The following transactions took place in -respect of an item of
material : )
Receipts  Rate Issues
(nQty) GnRs) (inQty)
01.07.2015 200 units  2.00 -
05.07.2015 300 units  2.40 -

12.07.2015 e - 250 units
20.07.2015 250 units 2.60 —
31.07.2015 il = 200 units

Record the above transaction in the stores ledger pricing the
issues at simple average rate method

S epeolIGurmer AgmLTumer BLeulg Senaser [Gemamiomy) :

- Quppgl Aevw efpd = auprdug
. (canefismsuiieon) (mmumbe) (eramenfiémaudicv)
01.07.2015 200 oi@@ser 200 . 7. -
05.07.2015 300 sw@aser | 2.40 2
12.07.2015 - — 250 s@@ser
20,07.2015 250 sw@sdr - 2.60 | -
31.07.2015 Bl T 200 i@ @seT

&g CuGTLigen Cuopiig. g,LaJLoré;ma;asaﬂeh QULDBIGEOEENET FTSTFEwmT

griaf efene aisbd apule LHay Qslig ST Hs.

Caleulate the cost of Job No. 100 from the following data :°
Materials Rs. 4,010 ‘

Wages ,

A - 60 hours @ Rs. 3 per hour

B — 40 hours @ Rs. 2 per hour

C — 20 hours @ Re. 1 per hour

Variable overheads — Rs. 2 per hour :

Fixed overheads — Rs. 20,000 for 10000 hours.

Spsengmd seeudsAOmBS Uafl eaa@r 100-é1  SiLésioms
sam&S(Hs.

epeouummerser 5.4,010

Fnedl .

A — 60 wenflazer @ Rs. 3 e wenfl Crysdds

B - 40 welser @ Rs. 2 g wenfl Corsdns

C - 20 wafledr @ Rs. 1 g wesil Crrsdns

rgd Cupsbeweysdr am walés 0.2 'r_F,lcu)sourrear @wm&@&mmam
10000 wenfl Crradne e.20,000.
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24.

Amit Company has five departments P, N, R, S are production

departments and T is a service department. The actual cost for a

period are as follows : -

Rs. el < Rs.

ék Repairsv ¥ 2,000 Insurance ” . 1,600

¢\ Rent ¢ 2,500 Employers liability

Depreciation 1,200 of employees insuranée - 600

Supervision 4,000 Light 1,800

The following data are also available in respect of five

department :
Departments

: P N .R. S T
AreaSqft °~ 140 120 110 80 40
No.of workers = 25 20 10 10 5
Total wages Rs. 10,000 8,000 5,000 5,000 2,000
Value of plant Rs. 20,000 18,000 - 16,000 10,000 6,000

Value of stock . Rs. 15,000 10,000 . 5,000 2,000 -

. Prepare prifnary distribution summary f'rom_.‘tAhe above data.
<185 Hoiob Lbs sepamars Csrearderas. P, N, R, S aretuien
o pusH seopsdt T @b g ueflggion. @m @O
srasHhaTer Qs Qeewasd Waraieaea '

- e, = o
U(gIE&sLD 2,000 smuSE ‘ 1,500
QUL G0 2,500 ueflwirert &riSE
Gg,u'JLorfGMLb' 1:.200 Ppeuansfen &6t Gummy 600
Gopuriemeas 4,000 . el : 1,800

@65 Db SOPEEsESTET GD efeurrhiser LenaHLOMD) :
' FOPSET
B N R S T -
LIFLILISTEY &ITl . 140 120 110 90 40
uesflwm_ser : o5 - 20 10 10 5

Qombsemd @ 10,000 8000 5000 5,000 2,000
@upSrwfiy . 20000 18,000 16,000 10,000 6,000
@muy by @ 15,000 10,000 5,000 2,000 -

CuCe o drer eflurrismeTs Gamesm( @oge'mnm LAlTHSERLILY LI g Wed

swmit Qews.
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